20224 ERA S EHET

—MRHFAEABFERHBTES

202244 F 202245 F 202246 B 202247 H 202248 B 202249 B
E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt
< 1t/h 0 0 00 00 0 0 00 00 0 0 0.0 0.0 0 0 0.0 0.0 0 0 00 00 0 0 0.0 0.0
1t/h< < 3t/h 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00
3t/h < < 6t/h 0 0 00 00 0 0 00 00 0 0 00 0.0 0 0 0.0 0.0 0 0 00 00 0 0 0.0 0.0
k| 8t/h < <10t/h 0 0 00 00 0 0 0.0 00 0 0 00 00 1 1 96 96 0 1 00 96 0 1 00 96
10t /h < < 20t/h 0 0 00 00 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 00 00 0 0 0.0 0.0
20t/h < < 30t/h 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00
30t/h = < 50t/h 0 0 00 00 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 00 00 0 0 0.0 0.0
Bl so/h=< 0 0 00 0.0 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00
& it 0 0 00 00 0 0 00 00 0 0 00 00 1 1 96 96 0 1 00 96 0 1 0.0 9.6
il A te| 0.0% 0.0% #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! 0.0% 0.0% #DIV/0! #DIV/0!
B 4 B A |#Div/or| #DIv/or | #DIv/0! | #DIv/0!]  0.0% 0.0%| 0.0% 0.0%| 0.0% 0.0%| 0.0% 00% #Div/0r|  s0.0%| #D1v/0r|  39.7%] #Div/or|  s0.0%| #DIv/0r|  39.7%] #DIv/or|  s0.0%| #DIv/01|  39.7%)
< 1t/h 0 0 00 00 0 0 0.0 00 0 0 00 0.0 0 0 00 00 0 0 00 00 0 0 00 00
Tt/h = < 3t/h 1 1 24 24 1 2 13 37 0 2 00 37 0 2 0.0 37 3 5 6.0 97 0 5 0.0 9.7
gl 3t/ = < 6 0 0 00 0.0 0 0 00 00 4 4| 150| 150 0 4 00| 150 0 4 00| 150 0 4 00| 150
| 6t/h < < 10t/h 1 1 7.2 7.2 1 2 72| 144 1 3 60| 204 0 3 00| 204 0 3 00| 204 1 4 72| 216
Bl ovhs< 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00 1 1 180 180 0 1 00| 180
Sl it 2 2 96 96 2 4 85| 181 5 9| 210 391 0 9 00| 391 4 13| 240 631 1 14 72| 703
il A tb| 200.0% 200.0% 100.0% 88.5% 250.0% 247.1% 0.0% 0.0% #DIV/0! #DIV/0! 25.0% 30.0%
g1 % B A k| 400w 400%| 286%| 286% 66.7% 50.0%| 100.0%| 437%| 12504 75.0%| 276.3%| 798| #DIv/0r| 7504 #DIv/0r|  79.8%] s0.0%| 65.0%| 980w ssou| 250%] s58.3u| 34.1%| 74.34]
< 1t/h 2 2 06 06 3 5 12 18 2 7 13 3.1 1 8 02 33 1 9 05 28 3 12 18 5.6
Tt/h < < 3t/h 0 0 00 00 2 2 32 32 0 2 00 32 3 5 73| 105 1 6 20| 125 3 9 36| 16.1
3t/h = < 6t/h 1 1 5.6 5.6 11 12| 47| 493 0 12 00| 493 0 12 00| 493 0 12 00| 493 1 13 31| 524
B 5t /n = < 1oun 0 0 00 00 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 o o 00 00 0 0 0.0 0.0
10t/h < < 20t/h 0 0 00 00 0 0 0.0 00 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00
| 20h=< 0 0 00 00 0 0 00 00 0 0 00 0.0 0 0 0.0 0.0 0 0 00 00 0 0 0.0 0.0
& it 3 3 6.2 6.2 16 19 481| 543 2 21 13| 556 4 25 75| 631 2 27 25| 656 7 34 85| 741
il A te[  60.0% 33.7% 533.3% 775.8% 12.5% 2.7% 200.0% 576.9% 50.0% 33.3% 350.0% 339.2%
gi #£ @ A k| 10004 1000%| 2385% 2385% 228.6% 190.0% 1717.9% 1005.6%] 100.0%| 175.0%] 92| 2851%] e6.7% 13894 16.7%| 9s1u| 33.3%| 11254 119.0%| 9ssu| 175.0%] 121.4%| 257.04 106.34
< 05t/h| 199 199 | 448 448 190 389 | 40| 849 184 573 | 388 1237 214 787  447| 1684 180 967 | 413| 2097 264 | 1231| 555 2652
05t/h < < 1t/h| 137 137 841 841 125 262| 789| 1630 103 365 | 61.7| 2247 118 483 761 | 3008 135 618| 812| 3820 190 808 | 119.7| 501.7
g 1t/h =< 2t/h 63 63| 752| 752 97 160 | 1161 | 1913 95 255 | 1162| 3075 105 360 | 1220 | 4295 127 47| 1538| 5833 155 642 | 1800 | 7633
2t/h < < 3t/h 86 86| 1895| 1895 120 206 | 2690 | 4585 123 329 | 2630| 7215 90 419 1925| 9140 172 501 | 3635 | 12775 192 783 | 4140 1,6915
3t/h=< 37 37| 1120 1120 23 60| 720| 1840 26 86| 780| 2620 23 109 | 830 3450 24 133 900! 4350 85 218 | 2970 | 7320
ol P it| 522 502 | 5056 | 5056 555 | 1,077 | 576.1| 1,0817 531 | 1,608 | 557.7 | 1,639.4 550 | 2,158 | 518.3 | 2,157.7 638 | 2796 | 729.8 | 2.887.5 886 | 3,682 | 1,066.2 | 3,953.7
1] A te|  57.6% 54.5% 106.3% 113.9% 95.7% 96.8% 103.6% 92.9% 116.0% 140.8% 138.9% 146.1%
i Z£ @ A k| 12034 1203%] 146.6%| 146.6% 106.1%| 1125%] 121.3%| 131.9%] 930%| 10524 s65%| 111.9%] 940%| 10214 9384 10704 1006% 101.8%| 99.3%| 104.9%| 904u| 9s.8%| 89.6% 100.34
& B 527 527 | 521.4| 5214 573 | 1,100 | 632.7 [ 1,154.1 538 | 1,638 | 580.0 [ 1,734.1 555 | 2,193 | 5354 | 2,269.5 644 | 2837 | 756.3 | 3,025.8 894 | 3731 1,081.9 | 41077
% il A te|  57.7% 54.3% 108.7% 121.3% 93.9% 91.7% 103.2% 92.3% 116.0% 141.3% 138.8% 143.0%
B % R A k| 11924 1102%| 13684 136.8%| 107.3%] 1127%| 130.3%| 133.1%| 93.1%| 1054%| s40u| 111.3%] 9394 10224 89.7%| 10538 99.4%| 1016 99.3%| 10374 905%| 987 89.1%| 99.44]
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20224 ERA S EHET

— B EEARAEERMIES
202244 F 202245 F 202246 B 202247 H 202248 B 202249 B
E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt E);] Rt
< 1t/h 0 0 00 00 00 00 00 00 0 0 00 0.0 0.0 0.0 0.0 0.0 0 0 00 00 0 0 0.0 0.0
1t/h< < 3t/h 0 0 00 00 00 00 00 00 0 0 00 00 00 00 00 00 0 0 00 00 0 0 00 00
3t/h < < 6t/h 0 0 00 00 00 00 00 00 0 0 00 00 0.0 0.0 0.0 0.0 0 0 00 00 0 0 0.0 0.0
k| 6t/h < < 10t/h 0 0 00 00 00 00 0.0 00 0 0 00 00 00 00 00 00 0 0 00 00 0 0 00 00

10t /h < < 20t/h 0 0 00 00 00 00 00 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 00 00 0 0 0.0 0.0

20t/h < < 30t/h 0 0 00 00 00 00 00 00 0 0 00 00 00 00 00 00 0 0 00 00 0 0 00 00

30t/h = < 50t/h 0 0 00 00 00 00 00 0.0 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 00 00 0 0 0.0 0.0

50t/h < < 80t/h 0 0 00 0.0 00 00 00 00 0 0 00 00 00 00 00 00 0 0 00 00 0 0 00 00
&| 0t/h=< 0 0 00 00 00 00 00 00 0 0 00 00 0.0 0.0 0.0 0.0 0 0 00 00 0 0 0.0 0.0

& it 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00 0 0 00 00

il A te| #DIvV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0!

g 4% @ A k|#oiv/o| #piv/or| #Div/or | #Div/0!| #Div/or| #Div/or | #Div/o! | #D1v/o!| #D1v/ot | #Div/or | #Div/o! | #D1v/0!] #D1v /0t | #D1v/or | #DIv/0! | #D1v/0!] #D1v /0t | #D1v/ot | #D1v/0! | #D1v/0!] #D1v /01| #D1v/0t | #DIv/0! | #DIV /0!
|& B 0 0 00 0.0 0 0 0.0 00 0 0 00 0.0 0 0 00 00 0 0 00 00 0 0 00 00
*fg il A te| #DIvV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0!

g 4% @ A k|#oiv/o] #piv/or| #Div/o! | #Div/0!| #D1v/or| #Div/or | #Div/o! | #D1v/0!| #D1v /ot | #Div/or | #Div/o! | #D1v/0!] #D1v /01| #Div/or | #D1v/0! | #D1v/0!] #D1v /0t | #D1v/ot | #DIv/0! | #D1v/0!] #D1v /01| #Div/0t | #DIv/0! | #DIV /01

& B 0 0 00 00 1 1 02 02 0 1 00 02 0 1 00 00 1 2 35 35 0 2 00 35
Efl A A tE| #D1v/o! #DIV/0! #DIV/0! #DIV/0! 0.0% 0.0% #DIV/0! #DIV/0! #DIV/0! #DIV/0! 0.0% 0.0%

“lan & m B tt|#ov/o|#oiv/o | #01v/o | #oiv/or| #oivor | #oiv/on| #Div/on | #oiv 0| #oiv ot #oiv.or | #oiv./or | #piv/on| #oiv e | #oiv o [ #oivsor | #oiv/or | #oiv/on | #Div o | #01v /0 | #oiv 0| #oiv.or | #oiv/on | #Div /o | #Div /00
0.0

& B 16 16| 233| 233 15 31 185| 418 15 46| 285 703 22 68| 325| 1028 12 80 98| 1126 7 87 84| 1210

= di te| 160.0% 215.7% 93.8% 79.4% 100.0% 154.1% 146.7% 114.0% 54.5% 30.2% 58.3% 85.7%

=
H
o | m
m
53

80.0%| 80.0% 41.3%  41.3% 75.0% 77.5%  41.6%  41.4% 71.4% 75.4% 107.5%| 55.2%] 84.6% 78.2% 97.3%| 63.9% 120.0% 82.5% 93.3% 65.7%] 30.4% 72.5%  28.7%|  60.3%

& Hi 16 16 233 233 16 32 18.7 42.0 15 47 285 70.5 22 69 325 103.0 13 82 13.3 116.3 7 89 8.4 124.7
% Al A Ee|  160.0% 213.8% 100.0% 80.3% 93.8% 152.4% 146.7% 114.0% 59.1% 40.9% 53.8% 63.2%
B &£ B A

80.0% 80.0%  41.3% 41.3% 80.0% 80.0% 42.0% 41.6% 71.4% 77.0% 107.5%| 55.3%] 84.6% 79.3% 97.3%| 64.1%] 130.0%  84.5% 126.7% 67.9% 30.4% 74.2%  28.7%|  62.2%

a i 543 543 544.7 544.7 589 1,132 651.4 | 1,196.1 553 1,685 608.5 | 1,804.6 577 2,262 567.9 | 2,372.5 657 2,919 769.6 | 3,142.1 901 3,820 | 1,090.3 | 4,232.4
Ell A k| 58.8% 56.0% 108.5% 119.6% 93.9% 93.4% 104.3% 93.3% 113.9% 135.5% 137.1% 141.7%
B & B A | 117.5% 117.5%| 124.5%| 124.5%] 106.3%| 111.4%) 122.9% 123.6% 92.3%| 104.3%| 84.8%| 107.1%] 93.5% 101.3% 90.1%| 102.5%| 99.8%| 101.0%] 99.7%| 101.8%] 89.1%| 97.9%| 87.6%| 97.7%

#E L AFEATA -ATER A OBENT0IDG S, LEDOHIT—1ZRRLTEYET,
HELRIFICHBLTEYET,



20224 ERA S EHET

—BAEEABREEHBIES
20224F108 20224F118 20224128 202341 A 20234 2R 20234E3A
EL) Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rt
< 1t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
1t/h = < 3t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 1 1 1.5 1.5 0 1 0.0 1.5 0 1 0.0 1.5
3t/h = < 6t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 1 1 5.0 5.0 1 2 5.0 10.0
K| 6t/h = < 10t/h 0 1 0.0 9.6 0 1 0.0 9.6 1 2 70 16.6 0 2 0.0 16.6 0 2 0.0 16.6 0 2 0.0 16.6
10t/h = < 20t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
20t/h = < 30t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
30t/h = <50t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
" 50t/h=< 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
=l &t 0 1 0.0 9.6 0 1 0.0 9.6 1 2 70 16.6 1 3 1.5 18.1 1 4 5.0 23.1 1 5 5.0 28.1
Al A EE| #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! 100.0% 21.4% 100.0% 333.3% 100.0% 100.0%
Bl &F B A L) #DIv/0! 50.0%| #DIV/0! 39.7%] #DIV/0! 50.0%| #DIV/0! 39.7%) #DIV/0!| 100.0%| #DIV/0! 68.6%] 100.0% 100.0%| 15.0% 52.9%] 100.0% 100.0%| 50.0% 52.3%] 100.0% 100.0%| 50.0% 51.8%])
< 1t/h 0 0 0.0 0.0 0 0 0.0 0.0 1 1 0.4 0.4 0 1 0.0 0.4 0 1 0.0 0.4 0 1 0.0 0.4
1t/h = < 3t/h 0 5 0.0 9.7 0 5 0.0 9.7 1 6 1.2 10.9 0 6 0.0 10.9 0 6 0.0 10.9 0 6 0.0 10.9
{F 3t/h = < 6t/h 0 4 0.0 15.0 0 4 0.0 15.0 0 4 0.0 15.0 1 5 6.0 21.0 0 5 0.0 21.0 0 5 0.0 21.0
5| 6t/h = < 10t/h 0 4 0.0 276 0 4 0.0 276 0 4 0.0 276 1 5 8.0 35.6 0 5 0.0 35.6 0 5 0.0 35.6
E 10t/h= < 0 1 0.0 18.0 0 1 0.0 18.0 0 1 0.0 18.0 0 1 0.0 18.0 0 1 0.0 18.0 0 1 0.0 18.0
= & &t 0 14 0.0 70.3 0 14 0.0 70.3 2 16 1.6 71.9 2 18 14.0 85.9 0 18 0.0 85.9 0 18 0.0 85.9
Al A [i5 0.0% 0.0% #DIV/0! #DIV/0! #DIV/0! #DIV/0! 100.0% 875.0% 0.0% 0.0% #DIV/0! #DIV/0!
B & B A 0.0% 51.9% 0.0% 62.9%] #DIV/0! 51.9%| #DIV/0! 62.9%] #DIV/0! 59.3%| #DIV/0! 64.3%] 100.0% 62.1%| 145.8% 70.8%| #DIV/0! 62.1%| #DIV/0! 70.8%| 0.0% 60.0% 0.0% 68.1%])
< 1t/h 6 18 2.9 8.5 3 21 1.0 9.5 8 29 3.5 13.0 3 32 1.8 14.8 4 36 2.8 17.6 2 38 0.6 18.2
1t/h = < 3t/h 1 10 1.6 17.7 0 10 0.0 17.7 1 11 20 19.7 0 1 0.0 19.7 3 14 5.2 249 2 16 3.7 28.6
3t/h = < 6t/h 0 13 0.0 52.4 2 15 8.0 60.4 1 16 6.0 66.4 0 16 0.0 66.4 0 16 0.0 66.4 2 18 9.4 75.8
B 6t/h = < 10t/h 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 1 1 10.0 10.0
10t /h = < 20t/h 1 1 20.0 20.0 0 1 0.0 20.0 1 2 20.0 40.0 0 2 0.0 40.0 0 2 0.0 40.0 0 2 0.0 40.0
= 20t/h=< 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 2 2 70.0 70.0
& Hi 8 42 245 98.6 5 47 9.0 107.6 1 58 31.5 139.1 3 61 1.8 140.9 7 68 8.0 148.9 9 77 93.7 242.6
Al A | 114.3% 288.9% 62.5% 36.7% 220.0% 350.0% 27.3% 5.7% 233.3% 444.4% 128.6% 1171.3%
Bl fF [ B k| 133.3% 123.5% 500.0% 132.1%] 125.0%] 123.7%| 500.0%| 140.8%] 275.0% 138.1% 83.3%| 121.8% 37.5%| 122.0% 7.5%| 102.0%) 233.3% 128.3% 173.9% 104.3%| 180.0% 132.8%] 509.2% 150.6%)
< 0.5t/h 233 1,464 51.1 316.3 238 1,702 51.4 367.7 224 1,926 440 411.7 187 2,113 38.8 450.5 279 2,392 59.1 509.6 315 2,707 66.5 576.1
05t/h= < 1t/h 137 945 85.9 587.6 138 1,083 87.4 675.0 196 1,279 1225 797.5 158 1,437 98.5 896.0 137 1,574 84.6 980.6 185 1,759 114.6 | 1,095.2
B| 1t/h=< 2t/h 98 740 115.4 878.7 127 867 149.1 | 1,027.8 91 958 105.0 | 1,132.8 142 1,100 163.3 | 1,296.1 103 1,203 1234 | 1,4195 143 1,346 167.3 | 1,586.8
2t/h = < 3t/h 92 875 194.0 | 1,885.5 155 1,030 331.5| 22170 150 1,180 327.0 | 2,544.0 258 1,438 547.5 | 3,091.5 115 1,553 2425 | 3,334.0 158 1,711 345.5 | 3,679.5
3t/h=< 21 239 710 809.0 34 273 116.0 925.0 42 315 168.0 | 1,093.0 75 390 231.0 | 1,3240 37 427 128.0 | 1,452.0 75 502 267.0 | 1,719.0
ol P Hi 581 4,263 5234 | 44771 692 4,955 735.4 | 5212.5 703 5,658 766.5 | 5,979.0 820 6,478 | 1,079.1 | 7,058.1 671 7,149 637.6 | 7,695.7 876 8,025 960.9 | 8,656.6
Al A [z 65.6% 49.1% 119.1% 140.5% 101.6% 104.2% 116.6% 140.8% 81.8% 59.1% 130.6% 150.7%
B £ B A 96.7% 98.5% 91.7% 99.2% 96.4% 98.2% 94.7% 98.5% 91.9% 97.4% 91.0% 97.5%) 119.2% 99.7%| 122.6%) 100.6%| 114.3%| 100.9%| 123.5%| 102.2% 96.9%| 100.4%] 104.2%| 102.4%
a i 589 4,320 5479 | 4,655.6 697 5,017 744.4 | 5,400.0 7 5,734 806.6 | 6,206.6 826 6,560 | 1,096.4 | 7,303.0 679 7,239 650.6 | 7,953.6 886 8,125 | 1,059.6 | 9,013.2
ﬁ% Al A i 65.9%| 115.8% 50.6%| 113.3%] 118.3%| 116.1% 135.9% 116.0%] 102.9%| 114.3% 108.4% 114.9% 115.2% 114.4% 135.9% 117.7% 82.2%| 110.4% 59.3%| 108.9% 130.5% 112.2% 162.9% 113.3%]
B & B A 96.6% 98.4% 92.4% 98.5% 96.5% 98.1% 95.7% 98.1% 93.2% 97.5% 91.6% 97.2%) 118.2% 99.7%| 118.7% 99.9%] 114.9%) 100.9%| 122.6% 101.5%) 97.3%| 100.5%) 110.9% 102.5%'

#E L AFEATA -ATER A OBENT0IDG S, LEDOHIT—1ZRRLTEYET,
HELRIFICHBLTEYET,



20224 ERA S EHET

—BAEEABREEHBIES
20224F108 20224F118 20224128 202341 A 20234 2R 20234E3A
EL) Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rit | =8 Rt
< 1t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 2 2 1.0 1.0
1t/h = < 3t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 1 1 2.5 2.5 0 1 0.0 2.5 4 5 70 9.5
3t/h = < 6t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
K| 6t/h = < 10t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
10t/h = < 20t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
20t/h = < 30t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
30t/h = <50t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
50t/h = < 80t/h 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
& sot/h=< 0 0 0.0 0.0 0.0 0.0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
& Hi 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 1 1 2.5 2.5 0 1 0.0 2.5 6 7 8.0 10.5
Al A k| #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! 0.0% 0.0% #DIV/0! #DIV/0!
Bl & [ A | #DIV/0'| #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!
_|& & 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0 0 0 0.0 0.0
g Al A k| #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0!
Bl & [ H | #DIV/0'| #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!] #DIV/0! | #DIV/0! | #DIV/0! | #DIV/0!
& & 0 2 0.0 3.5 0 2 0.0 3.5 0 2 0.0 3.5 0 2 0.0 3.5 0 2 0.0 3.5 0 2 0.0 3.5
51 Al A | #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0! #DIV/0!
Bl & [ A | #DIV/0'| #DIV/0! | #DIV/0! | #DIV/0'] 0.0% 50.0% 0.0% 48.6% | #DIV/0![ 50.0% [#DIV/0![ 48.6% | #DIV/0! 50.0%) #DIV/0! 48.6%| #DIV/0! 50.0%) #DIV/0! 48.6%| #DIV/0! 50.0%) #DIV/0! 48.6%
- & E 54 141 50.3 171.3 17 158 18.4 189.7 22 180 300 | 2197 19 199 15.8 235.5 9 208 17.5 253.0 21 229 235 276.5
?";_ Al A | 771.4% 598.8% 31.5% 36.6% 129.4% 163.0% 86.4% 52.7% 47.4% 110.8% 233.3% 134.3%
B & [ A H| 540.0% 108.5% 914.5% 83.1% 58.6% 99.4%| 61.3%] 80.3%] 183.3%| 105.3% 110.3%] 83.4%] 59.4%| 98.0%] 86.3%| 83.6% 75.0% 96.7%| 110.1%] 85.0% 210.0% 101.8% 217.6% 89.7%
& Hi 54 143 50.3 175.0 17 160 18.4 193.4 22 182 300 | 2234 20 202 18.3 241.7 9 211 17.5 259.2 27 238 31.5 290.7
% Al A | 771.4% 598.8% 31.5% 36.6% 129.4% 163.0% 90.9% 61.0% 45.0% 95.6% 300.0% 180.0%
Bl & [ A | 540.0% 110.0% 914.5% 84.9%] 51.5% 98.2%] 49.5% 79.5% 183.3%| 104.0% 110.3%) 82.6%] 62.5% 97.6% 100.0%  83.7% 75.0% 96.3%| 110.1%] 85.1%] 270.0% 103.9%| 289.0% 92.1%
a i 643 4,463 598.2 | 4,830.6 74| 5177 762.8 | 5,593.4 739 5,916 836.6 | 6,430.0 846 6,762 | 1,114.7 | 7,544.7 688 7450 668.1 | 82128 913 8,363 | 1,091.1 | 9,303.9

=4 71.4% 54.9% 111.0% 127.5% 103.5% 109.7% 114.5% 133.2% 81.3% 59.9% 132.7% 163.3%
103.7%|) 98.7%] 99.9%)  98.0% 94.6% 98.1%| 93.6%] 97.3%] 94.6% 97.7% 92.2% 96.6%] 115.7%] 99.6%) 118.3% 99.3% 114.1%| 100.8%| 122.2%] 100.9%] 99.1%| 100.6%| 113.0% 102.1%
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